
aléatoire
1 arc 1
2 arc 2
3 11
4 fluo 1
5 fluo 2
6 14
7 15
8 16

1 arc 1
2 arc 2
3 arc 3 cav 2 = on
4 fluo 1

flamme 1 cav 0 = on fluo 2
flamme 2 cav 0 = on fluo 3 cav 2 = on
flamme 3 cav 0 = on 15
flamme 4 cav 0 = on 16

1 arc 1
2 arc 2
3 arc 3 cav 2 = on
4 fluo 1

feu pén 1a cav 1 = on fluo 2
feu pén 1b cav 1 = on fluo 3 cav 2 = on
feu pén 2a cav 1 = on 15
feu pén 3b cav 1 = on 16

phares 1 cav 0 et cav 1 = on arc 1
phares 2 cav 0 et cav 1 = on arc 2
phares 3 cav 0 et cav 1 = on arc 3 cav 2 = on
phares 4 cav 3 = on fluo 1

feu pén 1a cav 0 et cav 1 = on fluo 2
feu pén 1b cav 0 et cav 1 = on fluo 3 cav 2 = on
feu pén 2a cav 0 et cav 1 = on clign 3 cav 0 et cav 1 = on
feu pén 3b cav 0 et cav 1 = on clign 4 cav 3 = on


